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B.A. (P art—I) Briefly comment on any two of the following :
(a) Price Elasticity of Demand
Suppl. EXEACl})/Il\II(l)\lI\ﬁ(;l;ION, 2021 (b) Giffen Goods
Paper First (c) Law of Equi Marginal Utility.
(Micro Economics) P12
Time : Three hours Unit=2
Maximum Marks : 75 2. 3Hd @ IR MG @I @ | R q4Y 82 aie
qNe— w4 g7 o] & S% 7Y | Feddb $HI8 & Ub g9 T @ 96 &1 8 a1 9T S8 Adad 98 & {6 i
YT A & TH T B Sip AT & AN Y T T e ? JHSET |
Attempt f’l{ the five questions. On? question from What is relation between average cost and marginal
each Unit is compulsory. All questions carry equal cost ? If marginal cost is rising, does it mean that
marks. e average cost must also be rising.
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Define Consumer Surplus. Show how will you (37) SR T SIBIC ST e,
measure it on demand curve. @) uRad=sfia Gﬂ—ﬂTEﬁ % o,
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Briefly comment on any two of the following : 3fAdT
(a) Long Run and Short Run production function, OR
(b) Law of variable proportion, ffaiaa # & fobel < 9X dfera fewolt sifoa—
(c) Returns to scale. (37) EHIT ST ScTEehdT,
FHIS-3 (@) HHIT e TG,
Unit-3 (@) IR T |
T T 919 (dde) q 39 7 99T 27 1101‘ gferanfiar Briefly comment on any two of the following :
H B &% ACIRT AT Bl i Bl T B | (a) Value of Marginal Product,
What do you understand by firms equilibrium of (b) Marginal Revenue Product,
firm? Explain short run equilibrium of firm under (c) Euler’s Theorem.
perfect competition. FHIS-5
RIDEGI Unit-5
OR 5. W& % VRN TS H AEAHS A
fopeel &1 WX dfera feoi faRau— T |
(37) SR, Critically examine Pareto’s welfare economics.
(7) e, JFerdr
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Briefly comment on any two of the following :

(a) Oligopoly, (31) wieret-fEaa afagd g,
(b) Duopoly, (@) T[T HT GEINTS BT B,
(¢) Monopolistic Competition. () FHeTOEE! A |
ShIs—4 Briefly comment on any two of the followings :
Unit—4 (a) Kaldor-Hicks Compensation principle,
T &% dadl g g & 9= | (b) Bergson’s Social Welfare Function,

Explain liquidity preference theory of interest. (c) Welfare Economics.



